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Match the followinglegislations with their vear of enactments

List I List—1II
2. The Juvenils Tustice ( Care and Protzction of Children) 1. 1933
Act
b. Untouchability Offences Act 2.1948
c. Dowry Prohibition Act 3.1961
d. The Factories Act 4 2015
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2 b c d




:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

J._ Firstranker's choice . )
www.FirstRanker.com www.FirstRanker.com

Correct Answer :-
o Range [Option ID = 62544]

16) Who was the first chairperson of Central Social Welfare Board? [Question ID = 30637]

1. Indira Gandhi [Option ID = 62539]

2. None of these [Option ID = 62540]

3. Sarojini Naidu [Option ID = 62538]

4. Durgabai Deshmukh [Option ID = 62537]

Correct Answer :-
o Durgabai Deshmukh [Option ID = 62537]

17) The philosophical world view which recognises that there are many different ways of interpreting the world and undertaking
research and the choice of approach is directly linked to the nature of the research questions posed is called [Question ID = 30619]

1. Post positivist world view [Option ID = 62465]

2. Pragmatic world view [Option ID = 62466]

3. Social constructivist world view [Option ID = 62467]
4. Critical world view [Option ID = 62468]

Correct Answer :-
e Pragmatic world view [Option ID = 62466]

18) The nomothetic approach in research implies [Question ID = 30634]

1. A rule governed approach [Option ID = 62525]

2. Understanding of the unique aspects of a phenomenon [Option ID = 62526]
3. Understanding of aboriginal cultures [Option ID = 62528]

4. Using purposive sampling to collect data [Option ID = 62527]

Correct Answer :-
« A rule governed approach [Option ID = 62525]

19) The ontological assumption in quantitative research implies that [Question ID = 30624]

1. Reality is constructed by people in the society [Option ID = 62485]

2. There are multiple realities and the task of the researcher is to identify the objective truth out of these realities. [Option ID = 62486]
3. The researcher must go close to the researched to be able to understand the reality [Option ID = 62488]

4. There is one single reality and it exists outside the researcher and the researched [Option ID = 62487]

Correct Answer :-
e There is one single reality and it exists outside the researcher and the researched [Option ID = 62487]

20) The essay "Ideology and Ideological State Apparatuses"” was written by [Question ID = 30616]

1. Hegal [Option ID = 62454]

2. Louis Althusser [Option ID = 62455]

3. Karl Marx [Option ID = 62453]

4. Pierre-Joseph Proudhon [Option ID = 62456]

Correct Answer :-
D Louis Althusser [Option ID = 62455]

21) The name of Edmund Husserl is associated with [Question ID = 30632]

1. Post positivism [Option ID = 62517]

2. Structural functionalism [Option ID = 62519]
3. Rational choice theory [Option ID = 62518]

4. Phenomenology [Option ID = 62520]

Correct Answer :-
« Phenomenology [Option ID = 62520]

22) Use of marketing to portray an organisation's products and policies as environment friendly when actually they are not is called
[Question ID = 30644]

1 None of these [Ontion 1D = 625681
2. Green Marketing [Option ID = 62566]
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3. Green Portrayal [Option ID = 62565]
4. Greenwashing [Option ID = 62567]

Correct Answer :-
e Greenwashing [Option ID = 62567]

23) Researchers generally undertake a small scale preliminary study prior to their full scale research study. This study is referred to as
[Question ID = 30613]

1. Experiential study [Option ID = 62442]
2. Testing study [Option ID = 62444]

3.  Pilot study [Option ID = 62443]

4. Experimental study [Option ID = 62441]

Correct Answer :-
D Pilot study [Option ID = 62443]

24) A researcher observes a phenomenon without revealing his identity and nature of research to the participants in the situation. This
type of observation is referred to as [Question ID = 30643]

1. Overt observation [Option ID = 62561]

2. Complex observation [Option ID = 62563]
3. Dynamic observation [Option ID = 62564]
4. Covert observation [Option ID = 62562]

Correct Answer :-
«  Covert observation [Option ID = 62562]

25) A researcher while doing research on the reading habits of the students in a college, also looks at the bent corners of the books in the
library. In your opinion what is she doing? [Question ID = 30623]

1. This aspect does not fall under data collection methods [Option ID = 62484]

2. She is making use of the unobtrusive measures of data collection [Option ID = 62482]
3. She is understanding the cataloguing system in the library [Option ID = 62483]

4. She is wasting her time [Option ID = 62481]

Correct Answer :-
. She is making use of the unobtrusive measures of data collection [Option ID = 62482]

26) Recipient of The Man Booker Prize, 2017 is [Question ID = 30646]

1 Marlon James [Option ID = 62575]

2 Paul Beatty [Option ID = 62574]

3.  George Saunders [Option ID = 62573]
4. Colson Whitehead [Option ID = 62576]

Correct Answer :-
. George Saunders [Option ID = 62573]

27) "Interviews in qualitative research may take place with a very few questions. Such interviews often progress in the manner a
normal conversation would, though the focus remain on the research topic under study.” Such interviews are called [Question ID =
30633]

1. Back and forth interviews [Option ID = 62524]
2. Structured interviews [Option ID = 62523]

3. Unstructured interviews [Option ID = 62521]

4. Semi structured interviews [Option ID = 62522]

Correct Answer :-
e Unstructured interviews [Option ID = 62521]

28) Understanding the meaning of action from the point of view of the actors in research is also referred to as [Question ID = 30629]

1. Positivist approach [Option ID = 62507]

2. Empirical approach [Option ID = 62506]

3. Verstehen [Option ID = 62508]

4. Hypothetic -deductivism [Option ID = 62505]

T CoOrTect ANSwer :-
« Verstehen [Option ID = 62508]
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29) A researcher interviews the respondents to understand one specific aspect of a social phenomenon. The researcher also uses
observation here to validate the findings. The researcher has made use of [Question ID = 30625]

1. Triangulation [Option ID = 62492]

2. Mixed method approach [Option ID = 62489]

3. Linear mixed method approach [Option ID = 62490]
4, Research wisdom [Option ID = 62491]

Correct Answer :-
« Triangulation [Option ID = 62492]

30) Theoretical saturation of data in grounded theory means [Question ID = 30631]

1. Reaching a point where all alternate theoretical explanations have been exhausted [Option ID = 62515]

2. Reaching a point where the theoretical frame prepared in advance for the research completely explains the phenomenon under study [Option ID =
62514]

3. None of these [Option ID = 62516]

4. Reaching a point in data analysis when sampling more data does not lead to more information related to research questions [Option ID = 62513]

Correct Answer :-
« Reaching a point in data analysis when sampling more data does not lead to more information related to research questions [Option ID = 62513]

31) Who gave the classification of institutions as ‘Crescive and Enacted institutions’?
[Question ID = 30622]

1. Abraham Maslow [Option ID = 62480]
2. Ferdinand Tonnies [Option ID = 62477]
3. Karl Marx [Option ID = 62479]

4. W.G.Sumner [Option ID = 62478]

Correct Answer :-
e W.G.Sumner [Option ID = 62478]

32) Aresearcher conducts a study by collecting data from the respondents using survey method which is followed by in depth open
ended interviews with a few respondents. This is an example of [Question ID = 30620]

1. Sequential Explanatory Mixed method [Option ID = 62469]
2. None of these [Option ID = 62472]

3. Concurrent mixed method [Option ID = 62471]

4, Transformative mixed method [Option ID = 62470]

Correct Answer :-
. Sequential Explanatory Mixed method [Option ID = 62469]

33) The Nanar area of Ratnagiri District of coastal Konkan, Maharshtra has been in news recently on account of [Question ID = 30655]

1 Protests against a nuclear power plant [Option ID = 62612]

2 Setting up of one of the largest airports in India [Option ID = 62610]

3. Achieving highest literacy rate for women in India [Option ID = 62609]

4 Protests against building of an integrated refinery-cum-petrochemicals complex in the area [Option ID = 62611]

Correct Answer :-
. Protests against building of an integrated refinery-cum-petrochemicals complex in the area [Option ID = 62611]

34) The Standing Rock Indian Reservation was in the news [Question ID = 30642]

1. As the excavations have brought out one of the oldest mummies in the world [Option ID = 62560]
2. On account of the protests against the Dakota Access Pipeline Project [Option ID = 62557]

3. On account of longest railway line connecting North with South America [Option ID = 62559]

4. On account of the large scale killing of black bucks [Option ID = 62558]

Correct Answer :-

35) What is the term given to the defence mechanism that causes a person to adopt behavioural traits from an earlier stage of the

L_development process? [Question ID = 306391

1. Rationalisation [Option ID = 62545]
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2. Regression [Option ID = 62546]
3. Denial [Option ID = 62548]
4. Repression [Option ID = 62547]

Correct Answer :-
e Regression [Option ID = 62546]

36) The duties of the National Commission for the Scheduled Castes are assigned under [Question ID = 30652]

1. None of these [Option ID = 62600]

2. Article 338 of the Constitution of India [Option ID = 62599]
3. Article 340 of the Constitution of India [Option ID = 62598]
4. Article 378 of the Constitution of India [Option ID = 62597]

Correct Answer :-
D Article 338 of the Constitution of India [Option ID = 62599]

37) Which of the following elements in a written message can be counted for content analysis? [Question ID = 30612]

1. Only themes [Option ID = 62440]

2. Concepts, themes, paragraphs, characters, words and items [Option ID = 62437]
3. Only words [Option ID = 62438]

4.  Only items [Option ID = 62439]

Correct Answer :-
o Concepts, themes, paragraphs, characters, words and items [Option ID = 62437]

38) Instrumental case study is done to [Question ID = 30630]

1. Provide a general understanding of a phenomenon using a particular case [Option ID = 62510]
2. Learn about the uniqueness of the case [Option ID = 62509]

3. None of these [Option ID = 62512]

4. To study only those cases which are outlier [Option ID = 62511]

Correct Answer :-
* Provide a general understanding of a phenomenon using a particular case [Option ID = 62510]

39) A question that allows the researcher to rate multiple questions/statements within a single question is called [Question ID = 30627]

1. Contingency question [Option ID = 62500]
2. Matrix question [Option ID = 62497]

3. Rating scale [Option ID = 62499]

4. Complex question [Option ID = 62498]

Correct Answer :-
e Matrix question [Option ID = 62497]

40) Who among the following gave the theory of multiple intelligence? [Question ID = 30618]

1. Abraham Maslow [Option ID = 62462]
2. Ivan Pavlov [Option ID = 62463]

3. Charles Spearman [Option ID = 62461]
4. Howard Gardner [Option ID = 62464]

Correct Answer :-
e Howard Gardner [Option ID = 62464]

41) Which of the following is not an unobtrusive measure of data collection [Question ID = 30635]

1. Personal diaries [Option ID = 62532]

2. Documents and archives [Option ID = 62530]

3. Non participant observation [Option ID = 62531]
4. Face to face interviews [Option ID = 62529]

Correct Answer :-
» Face to face interviews [Option ID = 62529]

42) Which of the following explains the meaning of interpretiviem in research? IQuestion TD = 306361

1.1 Il ion ID = 62 .
nterpret data personally [Option 62536] WWW.Fi rstRanker.com
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2. It believes that the objective reality can be interpreted only in one way and consequently people tend to attach same meaning to the objects [Option ID =

62534]

3. It believes that people experience reality differently and that the human action can be understood through an empathetic understanding [Option ID =

62533]
4. Social reality can be interpreted using the principles and methods of natural science [Option ID = 62535]

Correct Answer :-

« It believes that people experience reality differently and that the human action can be understood through an empathetic understanding [Option ID =

62533]

43) Which of the following statements about post-positivism is not correct? [Question ID = 30615]

1. Reality can be known only imperfectly [Option ID = 62451]

2. Knowledge is conjectural [Option ID = 62449]

3. All statements are correct [Option ID = 62452]

4. Quality of data is important in a research [Option ID = 62450]

Correct Answer :-
o All statements are correct [Option ID = 62452]

44) Which of the following is not true about ‘Atal Pension Yojana’? [Question ID = 30645]

1. It was launched in 2015 [Option ID = 62571]

2. It is aimed at the organised sector [Option ID = 62572]

3. Itis a government backed pension scheme [Option ID = 62569]
4. It is aimed at the unorganised sector [Option ID = 62570]

Correct Answer :-
o Itis aimed at the organised sector [Option ID = 62572]

45) In which year was the Harvard Gender Roles Framework published? [Question ID = 30614]

1. 1973 [Option ID = 62446]
2. 1990 [Option ID = 62448]
3. 1985 [Option ID = 62447]
4. 1960 [Option ID = 62445]

Correct Answer :-
e 1985 [Option ID = 62447]

46) "No single psychological make- up or set of personality can be linked to an effective leadership. A good leader must match the

demands of the situation". This is an elaboration of [Question ID = 30649]

1. Behavioural theory of leadership [Option ID = 62586]
2. Transformational leadership theory [Option ID = 62587]
3.  Transactional leadership theory [Option ID = 62585]
4. Contingency theory of leadership [Option ID = 62588]

Correct Answer :-
e Contingency theory of leadership [Option ID = 62588]

47) Emic perspective in research implies [Question ID = 30640]

1. The outsider’s perspective [Option ID = 62551]

2. Maintaining distance from participants [Option ID = 62549]
3. Looking at one objective reality [Option ID = 62552]

4. The insider's perspective [Option ID = 62550]

Correct Answer :-
« The insider's perspective [Option ID = 62550]

48) The principal of non-refoulement asserts that
[Question ID = 30607]

1. Citizenship cannot be granted to those who are not born in that country [Option ID = 62418]
2. Non- discrimination of citizens in the eyes of law [Option ID = 62420]

3. The refuaees or asvlum seekers cannot be sent back to the countrv where thev are liable to be subjected to persecution [Option ID = 62417

4. The candidates who lose their deposits in general elections cannot stand in the next general elections [Option ID = 62419]
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